Answer Key:

1. Will the curve be the same throughout the year?  Why or why not?
The shape of the curve will be the same, but the exact positioning of the curve on the graph will not.  This is because the tilt of the Earth will cause shadows to be longer in the winter than in the summer – a fact which could be directly read from the graph.


2. Will the curve be the same everywhere on Earth?  Why or why not?
No, different latitudes receive sunlight more or less directly than other latitudes.  Because the angle of the sun is different, the shadow length will be different.


3. How are the English and S.I. curves the same?  How are they different?
They are identical, except that one has been translated on the graph relative to the other.

4. How do you think the curves would change if you used a different-sized pencil to cast the shadow?
A longer pencil would cast a longer shadow, so the curve would have the same general shape, but the “peaks” (longest shadow lengths) would be greater.

